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data <- iris[1:4]

import numpy as np

from matplotlib import pyplot as plt
from sklearn.decomposition import PCA
from sklearn import datasets

iris.pca<-prcomp(data, scale=TRUE)
pcl <- iris.pca$x[,1]

pc2 <- iris.pca$x[,2]

main():

iris = datasets.load_iris()

label <- as.factor(iris[,5])

plot(pcl, pc2, col=label) x = iris.data

targets = iris.target

plt.figure(figsize=(12, 6))

pca = PCA(n_components = 2)
pca.fit(x)
x_pca = pca.transform(x)

for label in np.unique(targets):
plt.scatter(x_pca[targets label, 0],
Xx_pca[targets label, 1])
.title('principal component')
.ylabel('PC2")
.xlabel('PC1")
.autoscale()

plt.show()

if __pame__ == '__main__ ":
main()
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